Ðàñ÷åò ïîðÿäêà ðåàêöèè ïîëèìåðèçàöèè ñòèðîëà ïî ìîíîìåðó





Òàáëèöà 1. Ýêñïåðèìåíòàëüíûå äàííûå.





3 ìë ñòèðîëà�
6 ìë ñòèðîëà�
9  ìë ñòèðîëà�
�
t, ìèí�
h(t)�
hi-h0�
t, ìèí�
h(t)�
hi-h0�
t, ìèí�
h(t)�
hi-h0�
�
0�
156.018�
0�
0�
127.882�
0�
0�
140.803�
0�
�
1�
156.155�
0,137�
1�
128.055�
0,173�
1�
141.096�
0,293�
�
2�
156.438�
0,42�
2�
128.131�
0,249�
2�
141.252�
0,349�
�
3�
156.659�
0,641�
3�
128.399�
0,452�
3�
141.174�
0,371�
�
4�
156.932�
0,914�
4�
128.511�
0,517�
4�
141.180�
0,377�
�
5�
157.212�
1,194�
5�
128.581�
0,629�
5�
141.236�
0,433�
�
6�
157.264�
1,246�
6�
128.454�
0,699�
6�
141.302�
0,499�
�
7�
157.105�
1,087�
7�
128.606�
0,572�
7�
141.373�
0,570�
�
8�
157.166�
1,148�
8�
128.592�
0,724�
8�
141.393�
0,590�
�
9�
157.224�
1,206�
9�
128.768�
0,710�
9�
141.379�
0,576�
�
10�
157.193�
1,175�
10�
128.843�
0,860�
10�
141.454�
0,651�
�
11�
157.419�
1,401�
11�
128.925�
0,961�
11�
141.507�
0,704�
�
12�
157.802�
1,784�
12�
129.045�
1,043�
12�
141.561�
0,758�
�
13�
157.902�
1,714�
13�
129.176�
1,163�
13�
141.673�
0,870�
�
14�
157.934�
0,916�
14�
129.236�
1,294�
14�
141.703�
0,93�
�
15�
158.090�
2,072�
15�
129.364�
1,381�
15�
141.816�
1,013�
�
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V1 = 0,305 (ìîëü/ë*ñåê)   V2 = 0.194 (ìîëü/ë*ñåê)   V3 = 0,103 (ìîëü/ë*ñåê)
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Ïîðÿäîê ïî ìîíîìåðó: n = 0.4
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